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x=2secH,y=3tanf

a=2,b=3
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Asymptotes y = 5
2 2 2 2
S
a b 4 9

x=4cosht,y=3sinht
a=4,b=3

Asymptotes y = %
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25y = 100

= 2secs, y = 3tany
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2 iii a x=cosht,y=2sinht
a=1,b=2
Asymptotes y =+2x

b Equation: x° —yj =1

iva x=>5secd, y=Ttand

a=5b=7
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Asymptotes y = J_rgx
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b Equation: ER A
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A general point of the hyperbola is | ¢
t
1 1 ct ct

We apply the rotation matrix \/15 \1/5 and we get \étz \g ,
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Then we can compute

, , _cztz 2+czt2 (cztz , cztzj

—x’=—+c
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Then the rotated hyperbola satisfies an equation y* —x* =a>, with a = +c~/2
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